B 1 X (Gl X s o AMNMBSN5B%
E=— )& [/h]
= 148 2 M G sas 7 @AY iz / BAY X248

M2 334X & 275mm

THIBA A=

E=—JU&s [X]

M@ 260X & 325mm

148 3 1 ®ith)

wrs 14 @AY
s 21 @AY

sz 14 @Ay x24%
iz 21 @AY x24%

i = U]

Mg 258X < F 100X &E 219mm

1420 8 @Hk)

s / @AY

iz / BAY X358

i =[]

Mg 279X <F 150X & 257mm

14308 @itk

wrs 14 @A

sizm 14 @Ay x24%

i = [K]

g 296X < F 200X =& 270mm

1440 [ Gik)

sirs 21 @AY
sz 30 @AY
A5 18 @AY
Az 28 EAY
A% 36 @AY

sims 21 @AY x2 58
srs 30 EAY x2 58
A% 18 @AY x2 55
A% 28 BAY x2 #
A% 36 @AY x2 5

i = [FK]

M8 350X < F 220X &HE 262mm

14508 @ik

wrsuAig 20 @sz
nsuirs 30 (Ess
nsuArs 00 (Esz

wsud 20 @ < 148
wsud 30 @z x 148
wsug 00 @zt < 118

warmsm ([EaE]
815X 825mm

1% 50 8 @itk

wrsuAig 20 @Esz
nsuirs 30 (Ess
wsurs 00 (Esz




